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Part III 

pl 0/SCIENCE 

(5LOlLo Lopguo rikla aif/ Tamil & English Version) 

[ Glomgs oUduT 56IT: 75 
8T TOY: 3.00 LOMtl Gpyò | 

Time Allowed : 3.00 Hours ] [ Maximum Marks :75 

Nplaj6nI66T :(1) 606015I O60TIT$5GT5LÒ BtluT% FU Lalairal e6T6T5IT 6T6TLIG6N60T 

sfls5á Glsr6roTO LD. EÚUBaild GmpuiGLILIT 16mps 
560T851T601luraTflò 2LluT& Gsilol5saqu. 

(2) ovd IdNGI 8GÚLY MLDudlenem 6T(195a5DGD l48Gsm�0asDgD 

UwTLO5 GaucrO. 
IOTIGE50|LÒ. 

ULTI66T 6 5 DG 

(1) Check the question paper for fairness of printing. If there is any lack of 

fairness, inform the Hall Supervisor immediately. 
Instructions 

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams. 

Note This question paper contains four parts. 

LBS -I/ PART -I 

5pLy:) 4660155I olomÉ�B((ELD olmL_Uatl6s0|Ò. 12x1-12 

ii) 
GsipAs@á5i GNSLGLT aslenuSlmomuò GsisgI TYsad. 

Note Answer all the questions. 

(i) Choose the most appropriate answer from the given four alternatives and 

write the option code and the corresponding answer. 

SÚLY5/ Turn over 
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3569 (NS) 2 

1. 

() Gail dwena 

(F) Gailuu lav61E 
The eye defect 
(a) Convex lens 

(d) Bifocal lenses ) Convex mirror 

2 GLoT 
() 6.023 x 10-23 ()6.024 x 1024 
6.023x 1023 
The value of Avogadro number is 

(FF 6.024x 10-24 

/mol. 
(a) 6.023 x10-23 (b) 6.024 x 1024 

(c) 6.023 x 1023 (d) 6.024 x 10-24 

TDp 560 TE6DA) UITGTLD 5TOOT&: 3. 

() Efl soyisiuLL 2Úy 
()btled 5mgagÜuLL GGóGsrov 

F 5TTU-6--40MLIg.od 560TB5ÚULL #HUT 
Identify the non-aqueous solution. 

(a) Sodium chloride in water 

(b) Glucose in water 

) Copper sulphate in water 

(d) Sulphur in carbon disulphide 

4. 50 lengen GEsT TL LZleT GGLppl PG LólsT (ypamaFILT me0T É5 LILIGlpgi 
6 A Ll6TGonmLLoTGO5Ds GGLLhol aifluTs uITUlpsi sroilo 5 BLLrb5afl 

4. 

()48000J ()54000 J 45000J (FF 84000 J 
An electric heater of resistance 5 Q is connected to an electric source. If a current of 
6 A flows through the heater, find the amount of heat produced in 5 minutes. 
(a) 48000 J (b) 54000 J () 45000 (d) 84000 J 
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3 3569 (NS) 

C,HOH +30, 2CO, +3H,0 GT61LIgI 5. 

() Th5Tad POásd 

ST5rmuilás quslob àigGamppid 
(F) 6TS5Geando álgGomppib 
C,HOH +30, 20O, +3H,O is 
(a) Reduction of ethanol 

b) Combustion of ethanol 

(c) Oxidation of ethanoic acid 

(d) Oxidation of ethanal 

6. 

()6TGuTmgD LGL (Ta) JabsapTd 

LL Gsr.O (T 6IGGaL 
Which is formed during anaerobic respiration? 
(a) Carbohydrate (b) Ethyl Alcohol 

() Acetyl CoA (d) Pyruvate 

7. 

()abloib-gTLAIGur ()sledlwò aprtesl 
(F 6TULauL C. l5T_ 

Who is regarded as the "Father of Modern Physiology" 
(a) His-Atrio (b) William Harvey 

(c) Karl Landsteiner ) Edward C. Kendal 

8. GynoY sggéssT ETeTÚLIGLÓ QLo, 
() BMs56T 

(GLGTULDTLQsT (F 65LLTM 
Node of Ranvier is found in 
(a) muscles (b) axons 

(c) dendrites (d) cyton 

SaFL5/ Turn over 
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9. 

() 6m8LGLrmsafl cor 

( ovelnsn (F)GToaslo 

is found abundantly in liquid endosperm of coconut. 

(b) Cytokinin 

Ethylene 
(a) Auxin 

() Gibberellins (d) 

10. DNA-ma GlaLLn uuTUOagi : 

()35fl&Gsrcb ()GlyavLlévon G5T 

() FF l.6T60.T. 606Gsov 

We can cut the DNA with the help of : 

(a) Scissors (6) Restriction enzymes 

Knife (d) DNA ligases 

11. Gug$ES. 

SPpbnEatilco eypeneT JOTSu 

uinsipgi 
(1) uTeoilmarco GGoTTonTGB 

(2) GsLLBlwb (i) 

(3) PFULD (Gii) ptsjempé) Zav5ILoT 

(4) Gmoluud (iv) BTbL5606IT LITalëblsmgi 

(1) (1)-), (2-ci), (3)-6iv), (4-i) ()0-i), (2-6), (3-ti), (4)-(iv) 

( (-cii), (-i), (O-6v),. (4-6) ( (1-6i), (2-iv), (3)-60), (4)-(ii) 
Match the following: 

) Affects brain development in children (1) Polyvinyl chloride 

(2) Cadmium Affects the growth of reproductive system 
(ii) Asthmatic bronchitis 

(iv) Neural damage 
3) Lead 

(4) Chromium 

(a) (1)-6), (2)-(cii), (-tv), (4-(4i) 

(1)-i), (2)-(i), (3)-(iv), (4-6) 
(b) (1)-i), (2-6), (3-4ii), (4)-(iv) 
(d) (1)-i), 2-iv), (3)-(), (4)-(ii) 
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12. Fflumm D GB0T 6DLI BTOT85: 

() tr@lscnLfá GscnLGyrislwr GyrGorGsrld 
BToTÚLIGApgi 

6T 6G FLOLDDp 

()Fç-GoLLTAsLfls 
pem musléb smoTLILIGspgi 

(GoLrdsoLAs asLGrulut GGurGsrhd 

sgTIE5 6DOT20JTEG-6pgi 

(F) leGaTGlscmiMá asTGLSwr GGyTGLorGsrilT 

GupniroT 60T 

Find the correct pair. 

(a) Acrocentric The centromere is found near the centre of the 
chromosome with two unequal arms. 

b Submetacentric The centromere is found on the proximal end. 

()Metacentric The centromere occurs in the centre of the 

chromosome and forms two equal arms. 

The centromere is found at one end with a short 
arm and a long arm. 

(d) Telocentric 
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LI - II/PART - II 

GDlLy: 6T606Gugm|b 7 oMlaITsBaKi(E, alnL_wGfls6aqib. ailom GT0T 22 -5 7x2=14 
LLTwDms eflmuuetlasajh. 

Note Answer any seven questions. Question No. 22 is compulsory. 
13. 

Write short notes on gears. 

LTIGTIT oilmoTa BML_Glup (LplqWITS TOT G5pMEMOTS D5 Mention two cases in which there is no Doppler effect in sound. 

14. 

260T 6 LDolajùu lfla (G60T8sb amJuNsBAjÓ. Giogjud GOT ma 
15. 

6T(1955.
Define co-efficient of real expansion and mention its unit. 

16. 

Write a reaction which is used for the identification of alcohol. 

17. ByygTsOT5atlo eLpo0Ti aM5 IMLDLIMU 6T(L 6M 5TGO0T LILI(GLD L5055 
85. 
Name the three types of neurons and find its location. 

olsTGssÚULGOTOT LILSo A, B, C, D alw uTEB06T uTOTLD 5T0TLO. 
Identify the parts A, B, C and D in the given figure. 

18. 

A- 

B- 

-D 

C 
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19. Lm 2uiliiuigoanbisahloi sTa»zngz aliiairgi bljbzi asreirar g ? 

How can you determine the age of fossils? 

20. DNA olyád Gyes$ Glgnyfld giLuglo p6n-1pD LJGLIGsmor or1951%. 

State the applications of DNA fingerprinting technique. 

21. vlgs 5po) BGSSLiA GnenL (STAGE) STOTIGI L�pI dlg gouy 6TUEI5. 21. 

What is "Stage" in Scratch editor ? 

22. GlunGatlabGiSI Asogò peflaspenpurangi 0.3 8. Gaug dsrnevs 

alsmoTLlilsgh dwdnsTe (GoilssiuL@ 0.2 ö. 6TAp Ggrmwoié 19buz®s 

ToB$sslpgi 6To0lb Gurgaflor Gsrmavnaá #maiGs 

A beam of light passing through a diverging lens of focal length 0.3 m appears to be 
focused at a distance 0.2 m behind the lens. Find the position of the object. 

u6- II/PART -I 

L 61661GugÒ 7 alleaTTBGIG aemL_LJ6tla56qh. oilear 6T 0T 32 - 7x4=28 

6LLTUIDTS alLLUafléssa|b.

Note Answer any seven questions. Question No. 32 is compulsory. 

23. msos 601500) olaTágs. 

Describe rocket propulsion. 

24. 6T6fw 60TCG60T IT4Bluil6oT LWGOTLITG\E6T WITGDa 

What are the uses of Simple microscope? 

GULyS/ Turn over 
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25. () SGunaSl qMwBcT aT6o1pITá) 6T 60T60 

(a) What do you understand by the term 'Ultrasonic waves' ? 

(b) What are the medical applications of echo ? 

26 aGaors toraij6n55 5GsGÒ (LOMp56T LJITGMO ? 

What are the methods of preventing Corrosion 

27. GamÚY LwDgò lauragoOTL6 GaiguG5GI5. 

Differentiate soaps and detergents. 

28. GaupuTO BG5 - "PG aljasmas sraJy Gaur Lobgiò QG ol58mams 
5TuT Goui." 

Differentiate between Monocot root and Dicot root. 

29. LD6ofls suisoT daetlÚyp 1mLDLIGMLU LILh aumIBS UITSNSÓT GDls%0o. 
Draw the external structure of human heart and label the parts. 

JLLITT60T 5TOuToilwad GroLIG6NOT DTuDaSI ABT 10susgiam5 
GT (L95. 

30. 

Define Ethnobotany and write its importance. 
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31. ar &Alans qyap uppl oilenaga. 31. 

Bxplain about Gene Therapy. 

32. () 100 l. Bfó 25 A. stssoynuá sors5I O soJsÓ pumilásiu@Apg 

() stlur ? 5aupr ? (sap sreoio npflenens AG$Fs) 

i) 1mpTL mpalo prò uwsL@issalqw Sya wGBEEdr, aumi-

gah dyarsen, yos B0Üurstssr, Agiliprálaflscr Gurdnp 

E0Tébsail) eiraT 5myaugatior STaYEdr w/w STtD LI555T® 

SuiLUuGApgi 

i) &af bLsT, Llwß$lssr, Gsrùysr Gur cn paup l 2sT 

soEdEafien GeplayzsT v/v srehmg1 GDUILULQslpg. 

(a) A solution was prepared by dissolving 25 g of sugar in 100 g of water. Calculate 

the mass percentage of solute. 

(b) True or false (If false give the correct statement). 

) In our daily life, solution of syrups, mouth wash, antiseptic solution, 

household disinfectants etc., the concentration of ingredients of solution 

expressed as w/w. 

(qi) In Oinments, antacids, soaps etc., the concentration of solution is expressed 

as v/v. 

HGUys / Turn over 
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LI -IV/PART - IV 

ULD MJB. 3x7 21 

Note Answer all necessary. 

33. () NGaatlod UuGTLIGssÚuQO Lbl6o1Rbp aloTés50LD. 

dUT, SLLT, STLDT &8lirseflT 0TLYE5 6D IT ÚLIGE. 

(a) Explain about domestic electric circuits. 

OR 

(b) Compare the properties of alpha, beta and gamma radiations. 

34. ()) 5od IadsroT6D5uHcor GaTLUTG5606T 6T(LP515. 

016TLGyr olGui6T LILIGTLITG%0T T65I gT0T (Bm. 

()) 
61T555. 

() TLL Lúduutsf alneTuir 
6T Bs5isTLBLT oo&G5. 

(a) () Give the salient features of "Modern atomic theory". 

(i) Write any wo applications of "Avogadro's Law'. 

OR 

Explain single displacement reaction with examples. 

i) Explain the types of double displacement reactions with examples. 
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35. ()) puelar naimsá GLpruiso GHEdsgubLy alGnaTILurBsT 5T0TLúuGag 

(i) &piitr LITMG GJpruj$azrog1 (UT) -6m osln 6tTa1%60GTÉ6 mg}5. 

()) 1q.6TT.6-oMoon au+lfud gpáAu�gaió wngi ? 

) 5u Gpmiser spuGamss E@ás GuojdsnID pealonasfiaens 

i) 5peOT LILIGTLITLLGáG 20TOTIT0 GPpng5nami LuITGIBTÚLGHS 
S pDpEoT TG5ID 2 D5. 

(a) ) Why are the rings of cartilage found in trachea of rabbit? 

i) Write a note on UTI 
OR 

(b) ) What is the biological significance of DNA ? 

What precautions can be taken for preventing heart diseases? 

ii) Mention any two approaches for protection of an Abused child. 

- o00 
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